
 
 
 
 
 

ANNEX 6 — PART II APP 2.2-1 10/11/16 

APPENDIX 2.2    ALTIMETRY SYSTEM PERFORMANCE  
REQUIREMENTS FOR OPERATIONS IN RVSM AIRSPACE 

 
(Section 2, Chapter 2.5, 2.5.2.8, refers) 

 
 
 

 1.    In respect of groups of aeroplanes that are nominally of identical design and build with respect to all details that 
could influence the accuracy of height-keeping performance, the height-keeping performance capability shall be such that 
the total vertical error (TVE) for the group of aeroplanes shall have a mean no greater than 25 m (80 ft) in magnitude and 
shall have a standard deviation no greater than 28 – 0.013z2 for 0 ≤ z ≤ 25 when z is the magnitude of the mean TVE in 
metres, or 92 – 0.004z2 for 0 ≤ z ≤ 80 where z is in feet. In addition, the components of TVE shall have the following 
characteristics: 
 
 a) the mean altimetry system error (ASE) of the group shall not exceed 25 m (80 ft) in magnitude; 
 
 b) the sum of the absolute value of the mean ASE and of three standard deviations of ASE shall not exceed 75 m 

(245 ft); and 
 
 c) the differences between cleared flight level and the indicated pressure altitude actually flown shall be symmetric 

about a mean of 0 m, with a standard deviation no greater than 13.3 m (43.7 ft), and in addition, the decrease in the 
frequency of differences with increasing difference magnitude shall be at least exponential. 

 
 2.    In respect of aeroplanes for which the characteristics of the airframe and altimetry system fit are unique and so 
cannot be classified as belonging to a group of aeroplanes encompassed by paragraph 1, the height-keeping performance 
capability shall be such that the components of the TVE of the aeroplane have the following characteristics: 
 
 a) the ASE of the aeroplane shall not exceed 60 m (200 ft) in magnitude under all flight conditions; and 
 
 b) the differences between the cleared flight level and the indicated pressure altitude actually flown shall be symmetric 

about a mean of 0 m, with a standard deviation no greater than 13.3 m (43.7 ft), and in addition, the decrease in the 
frequency of differences with increasing difference magnitude shall be at least exponential. 
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